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First group basic radicals are precipitated as : Roll-MNosalsa.diniidsdid.
(i) Inthe form of sulphide

(ii) In the form of carbonate
(iii) In the form of chloride

(iv) Inthe form of hydroxide i
@ 7o fvemw ¥ wwemm wia @ swai CD 2645

COIELS . 3
Write application of common ion effect in the B. Sc./B. Sc. B. Ed. (PartD
qual\itative an.alysis. EXAMIN ATION, 2020
=) ! ST ! ; g (Old Course)
Explain the structure of diborane. : CHEMISTRY
sl Paper First
: Or) : . :
(@) IRESE 2 1 . (Inorganic Chemistry)
() IF; ; > Time : Three Hours
D Is Maximum Marks : 33
@ii) CN" : e mmmaswﬁm-mmﬁww
V) € | s afd 2
i i Attempt all the five questlons One question from each
?)) fF’ i Unit is compulsory.
ii 5 : |
(i) CN" : ‘ : - TP
(iv) (CN), _ ! (UNIT—1)
(a) aﬁmﬁﬁﬂﬁﬁ'wwﬁmﬁﬁf@vl : 2 I 1 @) Wdﬁ?ﬁaﬁ'ﬁiﬁﬂaﬂﬁ:ﬂm4s24p3ﬁlm
Write a note on pseudohalogens. , URHTY] HHIG BT : , 1
(@ H:POs H;PO; 9 HiPO, B achd vy & e 0 23 : ,
w9 ¥ aRed HRY 7 PR g 3 ‘ i B
Arrange H;PO,, H;PO; and H3P04 in 1ncreasmg : _
order of acidic strength and give reasons. y | (iii) 36 -
/ Lo L (@iv) 46
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An element’s outermost configuration is 4s2,4p3.

Its atomic number is :

@) 23

(i) 33

(iii) 36

(iv) 46

feegrreTeR vd see sy ¥ e W e

W ool wE 4 SwfE T @ smafar

ferRay | 3

Write difference between electrdnegativity and

electron affinity and explain periodicity of both

properties for halogen family.

Tl TR ST T w7 weE € ? Na @

3s electron ® o wrdy =i Y P O
| 3

What do you mean by effective nuclear charge ?
Calculate effective nuclear charge for 3s electron of
Na atom.

SR=Er

(Or)
FreferRaa & wewt Bier o & ; 1
(i) Na*
() Mg*
(iii) Si*
(f) Al
The smallest cation in the following is:
(i) Na*
() Mg*
{i) 51
(iv) AP*
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FrefaRen w Wit Rultrt R 3
() WY B @ emafdar
(i) Wl wa :

‘Write short notes on the following :

(i) Periodicity of atomic radius :

(ii) Pauling scale

S el TERET B ey AIRR T sHET TEw
ferfey | i
Derive de Broglie’s equation and write its
significance.

TPE—2

(UNIT—2)
i Wt s @1 e & 1
(i) BF;
(i) CO,
(iii) H,O
(iv) ‘BeCl,
Trigonal Planar molecule is :
(),
(i) CO,
(iii) H,O
(iv) BeCl, ‘ :
Haraar g4 g @ e Rl | 3

Write the limitations of valence bond theory.

Ao o] & forg anfieds  waE ol e
1Y | 3
Draw molecular orbital energy diagram for oxygen _
molecule.
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() =
eforRaa + frgat smffy fafig & ? 1
(i) SF,

(i) H0

(iii) NH,

(iv) SFs

Which of the following has regular geometry ?
(D SF, :

(i) HO

(iii) NH;3

(iv) SFs

frrferfee e/ amre &Y aXeT wHEEy 3
@ Hn®

(i) CIF; 7

Explain structure of the following atom or ion :

) . Hy0%
(i) CIF,

LCAOW&WEM%@HWWW! NG

_ Explain LCAO atomic orbital theory.

FPE—3
(UNIT—3) :
fertferiRae & @ fw e & segom g 2?4
(i) PH;
(i) HaS
(ili) HF
(iv) SiH4
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In which molecule hydrogen bond is present ? °

() PH;
(i) H.S

(iii) HF

(iv) SiH, ' ,

NaCl @ 3iffeh & wReem § dF-8 = @
SR FHEEY | 3
Explain use of Born-Haber cycle in the calculation
of energetics of NaCl molecule.

Preffae ox st Rt R ot
(i) e aemgs B G
(i) o1 e <y
Write short notes on the following :
(i)  Structure of Zinc sulphide
(i) Metal excess defects
3T
(Or)
e g & R M BT @ e AT R P 1
(i) difea
(i) Wod
(iii) ®&1q ggerar
(iv) o =g
Density of solid reduces due to the following defect :
(i) Schottky
(ii) Frenkel
(iii) Metal excess

(iv) Metal deficiency
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freferaa @1 TAEEY : gy

) L@ltﬁfﬁmﬁéﬁ%ﬁsﬁmﬁmﬁmﬁ
# el B

(i) CuCl B Terid NaCl & TS | B Bl
g, @i ?

Explain the following :

(i) LiCl is insoluble in water but soluble in
organic solvents. -

(i) Melting point of CuCl is lower than the
melting point of NaCl, why ? -

arqell ¥ Ao & RiErT ARy | 3
Explain valence bond theory for metals.
THE—

(UNIT—4)
wifeam waren &1 3T E’laT B ]
(i) e
(iD) g
(iii) g
(iv) el
Flame colour of sodium is :
(@) Red

(ii) Violet

(iii) Yellow

(iv) Pink

e @ end FET TGl @ iﬁﬁ&?fﬂ e ey | 3

Write biological significance of alkali and alkaline
earth metals.
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(@) XeO, 3T BT AT WA | 2
Explain the structure of XeO, molecule.
SEE
(Or)
(&) wxEp Rogex § 71 Wy grar & ? 1
(i) He
(ii) Ne
(iii) Ar
(iv) Kr

@)

Which element is used in atomic reactor ?
(i) He »

(ii) Ne
(iii)- Ar
(iv) Kr
S i @ fRgarewar 7 o 6
g %tqvﬁ ferReg | A q;'

Write a note on electronegativity and elec‘non
affinity of noble gases.

() <R @1 S aEER wHeTEy | 3

. Explain abnormal behaviour of Lithium.

THIE—5

(UNIT-—5)

5. (31) uww%mﬁawﬁwmﬂwmmé

(i) wEsS P wyg A
(i) PRFE B v §
(ili) FARES & w7 F

- (iv) TSSOOEE B BU Y
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